














Sx=1/2*[0 1;1 0];
Sy=1/2*[0 -i ; i 0];
Sz=1/2*[1 0; 0 -1];
Lx=1/sqrt(2)*[0 1 0; 1 0 1; 0 1 0];
Ly=1/sqrt(2)*[0 -i 0; i 0 -i; 0 i 0];
Lz=[1 0 0; 0 0 0 ; 0 0 -1];

Ssqrd=kron(eye(3), Sx)^2+kron(eye(3), Sy)^2+kron(eye(3), Sz)^2; 
Lsqrd=kron(Lx, eye(2))^2+kron(Ly, eye(2))^2+kron(Lz, eye(2))^2;
SdotL=kron(Lx,Sx)+kron(Ly,Sy)+kron(Lz,Sz);

Jsqrd=Ssqrd+Lsqrd+2*SdotL;

[v,d]=eig(Jsqrd);
diag(d)

gL=(Lsqrd+2*Ssqrd+3*SdotL)/Jsqrd;
eig(gL)

   3.75000   0.00000   0.00000   0.00000   0.00000   0.00000

   0.00000   1.75000   1.41421   0.00000   0.00000   0.00000

   0.00000   1.41421   2.75000   0.00000   0.00000   0.00000

   0.00000   0.00000   0.00000   2.75000   1.41421   0.00000

   0.00000   0.00000   0.00000   1.41421   1.75000   0.00000

   0.00000   0.00000   0.00000   0.00000   0.00000   3.75000
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